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���)))555¿¿¿:�ò¤k�Y�3Áò�þ, ��ÙKÒØ^��K.

�, W�K

1(5’), �§ez = 1 + i
√
3 �)�( ).

2(5’), O�È©
∫
|z|= 1

6

1
z(3z+1)dz��( ).

3(5’), ¦Eê�?ê
∑∞

n=1
(z−i)n

n3 �Âñ�»ÚÂñ�( ).

4(5’), ò¼ê z+1
z2(z−1)3��0 < |z| < 1SÐ¤Laurent?ê( ).

5(5’), ¼êf(z) = z3e
1
z3z = 0?�3ê�( ).

6(5’), �§z4 − 6z + 3 = 03��1 < |z| < 2S�":�ê�( ).

�, O�K

7(10’), O�È© ∫
C
zdz

��, Ù¥C�l�:(0, 0)�(1, 2)���ã.

8(10’), ¦È© ∫
|z|=2

dz

(z − 1)3(z − 3)3

��.

9(20’), ¦f(z) = 1
ez−1 −

1
z�¤k�k��áÛ:, ¿�ÑÛ«a.��áÛ

:? ek4:, ¦d4:��Ú3ê.

n, y²K

10(15’), �z = x + iy, ¼êf(z) = u(x, y) + iv(x, y)3«�DS)Û, �3Dþ
ðk u(x, y)2 = v(x, y). Áyf(z)3Dþð��~ê.

11(15’), �f(z)3|z| < 1þ)Û, �|f(z)| ≤ 1
1−|z| , K

|f (n)(0)| ≤ (n+ 1)!

(
1 +

1

n

)n

< e(n+ 1)!.
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